> restart
>

Ecuacion = diff (y(x),x$3) —64-y(x) =0
3

Ecuacion = % y(x) —64y(x)=0 €))

> SolucionGral = dsolve( Ecuacion)
SolucionGral :=y(x) = _Cl &+ C2e * sin(2V3 x) + C3e * cos(2y3 x) Q)
> FEcuacionCaracteristica == m--3 — 64 =0
EcuacionCaracteristica :=m> — 64 =0 A3)
> Raiz = solve(EcuacionCaracteristica)
Raiz:=4, -2 +21J3,-2—-21J3 )
> Solucion; = y(x) =exp(Raizl-x); Solucion, = y(x) =exp(Re(Raizz) -x) -cos(Im(Raizz)
-x); Soluciony = y(x) =exp(Re(Raizz) -x) -sin(Im(Raizz) -x)

Solucion, .= y(x) —etx
Solucion, := y(x) =e_2xcos(2 \/?x)
Soluciony := y(x) =e_2xsin(2 \/?x) Q)
_> SolucionGeneral := y(x) = C]-rhs(Solucionl) + C2-rhs(Solucion2) + C3-rhs(Solucion3)
i SolucionGeneral == y(x) =CI ¢ + C2 ¢ **cos(2 43 x) + C3 ¢ **sin(23 x) (6)
> SolucionGral,
y(x)= Cle™+ C2e*sin(2V3 x) + C3e* cos(2V3 x) @)

> EcuacionDiferente := y"-64y=0
3

EcuacionDiferente := é y(x) —64y(x)=0 ¢))

> Condiciones := y(0) =2,D(y) (0) =-3,D(D(y)) (0) =4;
Condiciones :=y(0) =2,D(y) (0) = -3,D? (»)(0) =4 9)

> SolucionParticular == dsolve( { EcuacionDiferente, Condiciones})
% et — % J3 e sin(2V3 x) + % e " cos(23 x) (10)

=> plot([rhs(SolucionParticular), rhs(diff (SolucionParticular, x) ),
rhs (diff (SolucionParticular, x$2)) 1, x=0..0.1, color = [ red, blue, brown])

SolucionParticular = y(x) =
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> Condiciones,

¥(0)=2,D(y)(0) =-3,D? () (0) =4 1)




